CHEM 1211 Worksheet

Balancing Equations-2
Reactants 
Products
Combustion Reaction:




C6H12O6

+ 
O2


CO2
+
H2O

	Item 
	Glucose
	Oxygen
	Carbon Dioxide
	Dihydrogen Oxide

	# of moles
	
	
	
	

	# molecules
	
	
	
	

	Molecular Weight
	
	
	
	

	mass
	
	
	
	

	Total Mass
	Reactants:
	=
	Products:



	 moles of C atoms
	
	
	
	

	 moles of H atoms
	
	
	
	

	 moles of O atoms
	
	
	
	

	# of C atoms
	
	
	
	

	# of H atoms
	
	
	
	

	# of O atoms
	
	
	
	

	Mass of C
	
	
	
	

	Mass of H
	
	
	
	

	Mass of O
	
	
	
	

	% C by mass
	
	
	
	

	% H by mass
	
	
	
	

	% O by mass
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